FRC B /R N e B

BT L5 HEL

afERE %

]

KitEiTH

i #em M 5 ERELE
HRER 19 1mm | B :25.4mm| TR 1 38. 1mm | R :50.8mm T | AZ | MR
ADSAA-HO75 | ADSAA-H100| ADSAA-H150 | ADSAA-H200 ., . .. EER D RERREL
ADSSF-HO075 | ADSSF-H100 | ADSSF-H150 | ADSSF-H200 P 454 | B | W | BELZHEFE
ADSSN-H075 | ADSSN-H100 | ADSSN-H150 | ADSSN-H200 454 | B TRBARER
ADDAA-H075| ADDAA-H100 | ADDAA-H150 | ADDAA-H200 i BE®|BE AEMAREAL
AR ADDSF-HO075 | ADDSF-H100 | ADDSF-H150 | ADDSF-H200 Pty 454 | B | W | BELZHEPE
ADDSN-H075| ADDSN-H100| ADDSN-H150 | ADDSN-H200 45# | BREN TEBARER
W .
A w
l _
| A ]
*T AEIN TR i =
R IR = | 1 Oy TOY
CERR (O¥0] old 14l da s
- ol o ol 4
s a8 Tt s 1ol 1o
B | |
T B ™ B
DS i Y DD - e e ,
oL AR S| B|B|S A AR Watrk: £—Nf
| ots |- emmmrmxE|-| omy |- omi |-| emm
ADSAA - HO75 - 16 - di2 - FNN
STRES R ADDAA - H200 - 14 - di5
AR EL
R FERS AR
= =] =3
ofts ONERSHEE | ONB g5 T or Ds | Dfo | Dii A W S | HEES D
Ho75 12 21 | 26 S lepo1zzx2| 32 10
H100 27 32 6
14 56.6 | 55.22 | 61 45
H150 15 40 | 45 | 115 | eonozzxa| 35 11
H200 54 59 18.5
:%g 12 g; gg g 62012Zx2| 32 10
ADSAA Hiso 16 64.68 | 63.31 | 70 56 10 45 15
ADSSF 260 15 A = a5 620222%2 35 11
ADSSN HO75 18 i5 | 72.77 | 71.39 |80 60 21 26 4 [60022ZX2 32 9
HO75 20 15 |80.85 | 79.48 | 87 67 21 26 4 [60027ZX2 32 9
HO75 22 15 | 88.94 | 87.56 | 95 75 21 26 4 6002ZZ%X2 32 9
HO75 24 15 | 97.02 | 95.65 | 104 84 21 26 4 [6002ZZ%2 32 9
HO75 25 15 [101.06 | 99.69 [ 111 90 21 26 4 6002ZZX2 32 9
HO75 28 15 [113.19[111.82] 123 | 102 21 26 4 [60027Z %2 32 9
A A RRERERGE
R X e A B
N FERST AR
= — . _ HRRN
ofts ONERSHEE | ONB g5 T or Ds | Dfo | Dii A W Dh | MEES D
Ho75 12 21 L 26 | 57 |go01zzx2| 32 10
H100 27 32
Hiso 14 56.6 | 55.22 | 61 45 20 5
200 15 e = 30 |62027ZX2 35 11
:%g 12 g; gg 27 |6201zzx2| 32 10
Hi50 15 60.64 | 59.27 | 67 50 20 5
200 15 = = 30 |6202ZZX2 35 11
HO75 21 26 27 |62012ZX2 32 10
H100 27 32
H150 12 20 15 25 |60012ZX2 28 8
H200 16 64.68 | 63.31 | 70 56 54 59 27 [6201ZZX2 10
H100 27 32 32
BTG o it Ve 29 |6002ZZX2 9
H200 54 59 30 [6202ZZX2 35 11
ADDAA H100 27 32
ADDSF H150 18 20 | 7277 | 71.39 | 80 60 40 45 87 |60042Z%2 42 12
ADDSN H200 54 59 41 [62047ZX2 47 14
H100 27 32 37 [6004ZZX2 42 12
H150 20 20 | 80.85 | 79.48 | 87 67 40 45
H200 = = 41 |62042ZX2 47 14
H100 27 32 37 [6004ZZX2 42 12
H150 22 20 | 88.94 | 87.56 | 95 75 40 45
B0 5 55 41 | 6204ZZX2 o 14
H100 27 32 42 [60052ZX2 12
H150 24 25 | 97.02 | 95.65 | 104 84 40 45
1200 7 - 46 | 6205ZZX2 52 15
H100 27 32 42 [60052Z%2 47 12
H150 25 25 [101.06| 99.69 | 111 90 40 45
200 e g 46 | 6205ZZX2 52 15
H100 25 27 32 42 [60052Z%2 47 12
H150 28 113.19|111.82| 123 | 102 40 45
H200 30 = 59 56 | 6206ZZX2 62 16
O R BRRAE

BITHERL O P944

1004



